Precal Matters WS 7.2: Polar Eqs

Name /\y /L:— ;/ Date Period

Worksheet 7.2—Polar Equations

Show all work on a separate sheet of paper. No Calculator unless otherwise specified.

Multiple Choice

P
6 1. Which of the following gives the number of petali i Ihe rose curve » =6c0s26?

A) 1l B)2 D E) 12 o
( ) ( ) ( )6 ( ) Svm,;awésécz@)"“ml‘

(‘ﬁwn [ 2'rr>

A 2. Which of the following describes the symmetry of the rose graph of » =4cos36?
@-axis only (B) y-axis only (C) origin only (D) all three (E) none

Cosineg, o L-anis Symm

B 3. Which of the following is a maximum radius value for » =2—-3cos 8 ?
()6 ©3 2 @1

max radivs is 2+3=5 units

N
B 4. Which of the following is the number of petals of the rose curve » =8sin 56 ?
(A) 1 @5 (C) 8 (D) 10 (E) 16

5 is odd, so we s

5 petals ($rom 0+ )
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Precal Matters WS 7.2: Polar Eqs

Short Answer

For questions 5 — 10, sketch the graph of each of the following polar equations by picking and plotting
points. How many radians does it take to complete one closed cycle? Verify on your calculator.

5. r=4cosd 6. r=2 7. r=3+3sind

[/
oele,] oelnz]

a‘P—p——%L &ff&/& cirele cardiof d
A'.am =z V‘M [ oc Eo) Z'[Tj
8. r=2+3cosb 9. r=sin30 10. r=sin46
L!mﬂior\ rvse curye
pe[02r] peCo™l

rose coarve
e 2'"':(

For questions 11 — 15, determine if the polar equation has any symmetry with respect to the polar axis (x-

axis), the pole (orign), and/or the line 6 = % (the y-axis).

11. »r=3-2sind 12. r=5+7cos@ 13. r=2secl
—AYS — axy 2
b x x\§ = ng
CVarHcaJ lLine e,x'/z—>
K-axis
14. r =3sin36 15. > =16cos 8
Lomniscate (infinihy gsmbol)

iﬁ —a5LI1S
X—a¢i5

- Y
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Precal Matters WS 7.2: Polar Eqs

For questions 16 — 24, use your calculator to sketch the graph of each ofthefollowing polar equations in an
A

appropriate window. Set your calculator to radian mode and your @ [O, 47[] . Transfer the sketch to your

paper.

16. r=2cos@+2sinf 17. r=sinf-1 18. r=6, >0 (spiral)

| r= -l +lsing &c CD; %1
ﬁ\ m i
air[,l¢,@r4er(,l,l) _\/]\) W
|

19.0 = E , >0 (hyperbolic spiral)  20. r=3+secf (conchoid) 21. r=sinftan@ (cissoid)
r
. L
re =l =0t e !
A | !
r= & | ;
! [
|
Wz |
| [
|
! Vi
[
Vi
4sin 0 ) . (6 ) 2 )
22. r= (cochleoid) 23. r=1+2sin 5 (nephroid) 24. r=+/1-0.8sin" @ (hippopede)

(o66~set card! f0id>
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Precal Matters WS 7.2: Polar Eqs

For questions 25 — 27, graph each of the following on your calculator in the with the given settings, then
sketch on your paper. -

25. r=0sin6, 0:[-107,107], x:[-40,40], y:[-30,30]

5

26. I"=1+3COS(30)9 0[0,272'], x:[—5,5], y:[_4’4]

[0 tivides “up
)0 cledps doon

N(W Fog, Curi.

27, r=sin[§j, 0 :[-27,2x], x:[-1.25,1.25], y:[-L1]

y-ayi ref lephd W%f’@iﬂ(ﬁ
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L =cecoso W=rsSine

Precal Matters - - WS 7.2: Polar Eqs
_ z-
X 4 =c

For questions 28 — 29, sketch the graph of the rectangular equation by first converting it into an equivalent
polar equation.—> %olve for

28.(362 +y° )3 =4x°y’ 29. X’ +y’ = (x2 +y° —x)2

> 2- N 2 . y >7-
’Z_B/ TSiné, = ( > — reese
(7= 4 (et (rsined e
\‘b - Li FZWSZQ (‘25‘3’?29 r = r"(rz” 2rcoSE + aes7'9>
2
rb—_ /7[\’460529 52”29' ’:: r",Zrusa-FC’S =3
i 2
o |= (- co5®>
7= Wewstosnt &

r—cs® =%
. = —[-¢coSE
= t Zcos05NS r=l—wse X

ZQ_F
tandi cltA

\oge. car e

PMP&HW

Application:

30. A satellite orbits the earth. It’s orbit is modeled by the equation » = 225009 , where r is the distance
—cos

in miles between the satellite and the center of the earth and & is the angle shown in the figure below.

(a) On the same viewing screen on your calculator (you must decide on \
an appropriate viewing window), graph the circle » =3690 (to

represent planet earth) and the equation of the satellite’s orbit.
Describe the motion of the satellite as @ increases from 0 to 27 .
You can use your “trace” feature for this.

winde 0’ X& (= (o) (07 Yo, (07}

Yo Gatellik moues Counbrcackwist
WA Lound Lo, Uogst at HADmiks ﬁgm X
40 HoD Garyz’l(é W/%(M@S”@F %ﬂﬂﬂ/[gg

(b) For what angle @ is the satellite closest to the earth? Find the height of the satellite above the
earth’s surface for this value of 6.

Closest when & =1 At His getnb, i+ 19 4 500mifies from EXEh(S
tonlor, o HAD-31I0= BIDwieS above, Conthls Gurlace .
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Precal Matters WS 7.2: Polar Eqs

(c) The orbit described above is stable because the satellite traverses the same path over and over as 6

| 0
ok, D o 22500(1—4(}}

increases. Suppose that a meteor strikes the satellite and changes its orbit to » = 2 7
—cos

On the same viewing screen, graph the equation representing earth and the satellites new orbit.
Describe the new motion of the satellite as @ increases from 0 to 37 (change #max to 37).

Mie gl Sl srbitS
Covnderdock wise, but noD

\%D A a JW%‘VB SFV‘G(

3500 w4 sheikes Eoddh's
Sur“@/ﬁﬁ in Cuodrent J0—

(d) Use the “trace” feature on your calculator to find the value of @ at the moment the satellite crashes
into earth.

Mo sabllile oheives e Emcih at a//mwméﬂ/j
D- . F7F0 radians. DOFé\v (§%u(pidl ma—éorﬂ)
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